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1.1 P
b. ¢ or d. Assume suitablc data

3 ' « .1 . 3 ( C Iy
Q.1 i.  Laplace transformation of t is given by I BLOL L
1 6
6 _ .
: d) Nonc of thesc
& (s-2)* ) |
ii. alive nf [=17_ 1 7 ic | BLOI COl PO
Value of L {sz--4] 15
a) sin2t b)2sin2t
c)%sinZt d) Nonc of these
1. Laplace transformation of f(t)=sinh2t, is 1 BLOI  COl POl
2 2
d)s(sz +4) b) (5% -4)
1 > ‘
g) Y d) None of these
1iv.  Which of the following is a period of tanx 1 BLOI CO1 POl
function
a)ymr b)2m  c¢)3m  d) None of these
v.  Which of the following is correct 1 BLOI COl POI

a)f_ﬂnsinmt =
b) f_"n sinmt =1
n 5
¢) [__sinmt = mmcosmt
d) nonc of thesc
Let H(x) be a periodic function with period 1 BLOI  COl  POI
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d) Nunu of these

State and prove first shifting theorem of 2 SV S S TR
Laplace h‘mwlin'lmllinn
Evaluate [, {-—2— p BLO4  COl - Voo
(s l)
Express the following, function in terms of 3 BI02  COL P02
unit step functions
stnt Dst<n

D (x) =1{sin2t 0< < 2

sinit 2n S ¢t
<t <3
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State and Prove convolution theorern

5 BBLGY Cof g
Solve  (D? +9)y = cos2t  if  y(0) = 5 I1.0% (4 pop
n
1,y(;)= -1
Find the value of agin the expansion of 2 BILOL  COL o poys
Fourier series of f(x) = x% in (-1, 1)
Find the Fouricr scries cxpansion of f(x) = 4 BLOZ COf  pryo
e *intheinterval = < x <
Represent  the  following  function by g 0 BIOI COI peyo
4
(L ,0<ts -
Fourier sine series [(t) =
l{ I’. <t ST
2’2
Find the Fourier sine transform of f(x) = 6 BLO4A  COf  poys
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